O 7 5 Az 2712 FAlejd 227

® 9721 @ 9 ¢+18 ® 12 3} 30
@12 935 ® 24 7} 42




21 =3%x7

D2x3

@2x7

® 2x32

@ 2x13

®5x7

21 7o) HTjgors7} 1




3.

A A o 72 9 HE
Z]"_TA_E"

-5tofzt,

> E.

> HEF: 60

Ok

=T

St 1201

)

ﬁ

rr

AXT2=12x%360
A =60




4. o
B!

2%x3%2x5, 2x3x%x7

e
B
fu)
ofl
Bic/

12x3,FAaFS i 2x3 x5 T
2~

12x3  FAaFE s 2x32 x5 %7

®
B
=
ol
12

T 2x32 x5, HAES  2x3x5%T

2x3xT7,HAaFHS 2% 32 x5 % T

©@ ® ©
B B
44
ol oj
20 18
T FE T FTF

i
R
ol
12

P2x32x5xT7,HATHS 2x3

2%x3%%x5

2x3 X7
2x3°X5x%x7=630
HjzoF: 2x3
FHAZE5 i 2x32x5%x T




v
mlo
ofx
‘mlm
r
o
rlo

® ©
N
el
|

B

i)

)

&

U

N

\

do

2 olstolt}, = a

@)a 0wl > a<

@ ae8oldeltt. = ax

® a+4o)dolt. = 4




&2 ] +5 ©-1]-3 ®©®o]]-4
D >, < > @ <, <, < @ >, > >
@<,>,> ® <, > <

2<4+5
O -1>-3
©0>-4




ax+b=2x->5a

@9 ® 24 @ 48 ()96

@® 6

b* —a®> =100 - 4 = 96




SA x-2="7(ax-b)+5°] FSAL W, a+b 9] F2?

@1 @)2 @ 3 @ 4 ® 5

Tx-2=T(ax-b)+5=Tax-Th+5°|B2 a=1, -Th+5=
9, b=1 0t} Wetd a + b =2 olch.




£9] gho] 1,2,5,10 & o, g y = 10

n—f—yz— o —D'—'E

X
® 1,2,5 @ 1,2,5,10
® 1,2,10 @ -1,-2,-5

@—1, -2,-5,-10

f(1) =-10,f(2) = -5, f(5) = -2, f(10) = -1




10. x9 Zol1,2,4,84 wf, &5y =
B

>
> JE 1,2,4,8

x2] Fro] 1,2,4,8 0]B & £(1) = 8, f(2) = 4,
o|ct.




11.

ey = —x+2 9 FHgko] -2, 0, 5 & W, x 9] o] F2?

@3 @ 6 ® 9 @ 12 ® 15

yol -2, 0, 5 & 27 djleh B
2=-x+2 x=4

0=-—x+2 x=2

5=-x+2, x=-3

x9 & -3, 2, 40|82 1 gL 30]t},




12.

D)-1,0,1 @ -1,1,2
@ 1,2,3 ® 1,3,5

T4y = 5x - 19 §rgto] —6,-1,4Q o, x <] gre?

@ _1, 1,3

gk yol tidsted x o] S 13t
—-6=5x-1, x=-1

-1=5x-1, x=0

4=5x-1,x=1

x 9] gt -1,0,1°]t}.




13. ol 23 WWeIo] A A, B, C, D 9| Hw2
7% 2 Lepyofet,

iy

o

v VvV v Vv vy Vv Vvy
0
iy

TOA(L2)
HE D B(2,1)
HE D C(0,-1)
HE D D(-2,1)

wt

Sy

A(1,2), B(2,1), C(0,-1), D(=2,1)




S

:ll

SO
=

N

YN

A(2,0), B(g,-4), C€(0,-3), D(3,0)

3

A(2, 3)—DO

= =2

0

O

B(_Qa _4)_’

D(3, 0)—oO

ol




15. & & 81 9 F?

O 2 @ 4 ®5

@ 6

@9

819 i1, 3, 9, 27, 810[th.




16. U5 H7] & &2 As 25 ===k

@ °f7h 1 ARl 5 Asehal jith
O 133 2 5ol

© 279 a= fgolth

@ 3 11123 2 A240|t},

@ Ao A= 2ATE p, 29 A= A7t g 1 7L
&40|9 pg k= Aapoltt,

v V. v V¥
0
M ot o
©

02
L
@)

~&B

@ k7t 1 T ZH7] AR 5 A4eEhal gt

© 133 9] oF4=1, 7, 19, 133 o| 22 FHAlSeolTt,

© &5 HN4= FtfolTh.

© 3 7 1123 O] Hgofre 1 o= A= 4o,

@ pxq FF7H 1, p, g, pXxqClBR A57F ofYth




2L J-8)BJ-2) = -1 o121

~2L J-8)[_J5 9 &2 +1 EE -3olth.

(i)-2 |-8) =-32 AL gict.
(i) =2 J-8) _p=+1 ¢,
—248-5=+1

ZFol7l A2 —2 - (-8) =5+ (-2) = -1 °]t},
wrabA (i), (ii)olA -, -, +olth




e

o° 0o
==

18. o

0 | <t

@1

™It

— |

— <t

A A
0 4F X ——  +
| o] ee] Nej ~—
o I A
™ 9_49_49_45_4
I + + + —
~—
N —— —— —
L L n n ——0 | <




19. @

=0

y=2cracldstel (1) =1, f) =petn @l b o
2re A2 Fotolet

» =
» E:
> He: g=-2
> Hgh: b=2
f(1>—2><—+ =-1
9) ~ %y TAT
La=-2

f(2)=2x2+a=b,4-2=b
S b=2




20. y- gxoﬂﬁ F(=6) + (3) O] WS Tatolat

Ch "
=

>
|> ek _o

od =

f(_6) =4, f(3)22
f(-6)+fB)=—-4+2=-2




21. A Aa, 6-2a) 7t x 5 §19] @O]E,EBGb—zL, b) 7}y % 99|

A ), 4719 AOB 9 WolE? (%, A 0 & YHeleh)

@ 18 @20 @) @ 36 © 48

A(a,6-2a)7} x % §19] HolB2
6—261:0, a=3
~ A3, 0)

B(ib—ﬁh b) o]y & f1e Holnz
1

2° 0, b=16

- B(0, 16)

.'.AAOB:3><16><%:24




22. FEFAO A A A(-1,1),B(2,0),C(1,3) & o] Fo] 7 A2
o] glol&?

D 2 @ 25 @ 35 @4 ® 5.5

- (39292] o)
714 3749 Hel)

(AABC9] HoJ)

1 1 1
=3x3-|-x2x2+-x1 —
3x3 <2>< X +2>< ><3+2><3><1>

=9-(243)=4




23.

Al A A(-2,3),B(-2,-1),C(0,-3) & &
o] =7

D1 @ 2 ® 3

@)4

® 5

AABCE=UH AB =4
31 ] :2015}.

1
(AABCY] ‘5?,0]):§><4><2:4




Zurgd 9o T " A(-2,1),B(4,1) ¥ 3 F ¢ 2 Fot 424 ABC
o] yo|7} 12 7} HA st gt} o2 F A C 9o Au=E AHGS
A& L N2

@a.5) @ (2,4) ® (4,-4)

® (-2.3) ®c-3)

A7V ABC 9] Y o]7t 12 o]o]of stE 2 % X 6 x (¥°]) =12

oltt.

kA (Fol) =4 7t Hl= A C & #oW AB 7t ©Hlo|BR
ABE 7|08

y 5O FFoR 9= 4 7t B o2 4 7 o] 53 HE BT
oAl Zom (1,5) EE (3,-3) o|th




